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Instruction :  Fist 15 minutes are allotted for the candidétqs to read the question
paper. ‘ '
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Note :
i)  The question paper 1s divided into two parts - - Part-A and Part-B
i1) Part-A and Part-B arc divided into three Suh-her:tiona - (1), (2) and
(3).
i) In Part-A of the question paper, there are multiple choice questions in
which select the correct alternative and then by a blue or black ball.

point pen, fill completely in the circle in OMR Answer Sheet. Do not

erase, cut or use whitener on the OMR Answer Sheet after answering.
iv) 1 mark is allotted for each multiple choice question in PutA
v] Part-B has descriptive questions.
vi) The allotted marks are given in each question.

vii) All the questions of Sub-Sections of Part-B are to be attempted all at a

time. Start each Sub-Section from a new page.

viii) All the questions are compulsory.

Uy - F
PART - A
(agfaaedta 9w )
{ Multiple Choice Type Questions )
AW - (1)
Sub-Section - (1)
AT 10 Wt BEE R F T I ofW, T G $ WR HR F IRAfIF wfafay

= A ¥ I I s vfafna & d9 A g0 et
(A) 10&d B) 208
.(C) 3o@f D) 40 vt )
1. A convex lens of focal length 10 cm forms a real image of the same size

as the object. The distance between the object and its image will be
(A) 10cm B) 20cm
«(C) 30cm (V) 40 cm 1
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2. U 399 U g I vk wde A R
XA 1R yfte B) 1 8%ny
() 1% s D) 18 A a@ g 1
2. T | '
he magnification produced by a convex mirror is always
(A} more than 1 (B) less than 1
C
(C)  equalto 1 (D)  more or less than 1 1
3. @aﬁamﬁaaﬁrm?@zoﬂiﬁ%mﬁaﬁmﬁﬂﬁ
(A) +02D (B) -02D
C) +50D (D) -50D 1
3. The focal length of a converging lens is 20 cm. The power of this lens
will be
(A) +02D B) -02D
(C) +50D (D) +5:0D !

4, 9 T vaq T e fedt Brenie i % B ) 908 v findt 2 @ @ R
ﬁﬁh@%mm—mﬁwﬁﬁﬁavﬁﬁﬁuﬁa@aﬁ%hm%

for farrerm =g 2 &2

() e B

() D) W 1
4. When a beam of white light falls on the surface of a triangular glass

prism it splits, after emerging out from the prism into various colours

with different deviations, The colour which has minimum deviation is

(A) Yellow (B) Green

(C) Violet (D) Red 1
5 MW%IWWAWW%HRHW4W%|@W%

oy AN Y e 21 AU GPeedT §Ane A 9 3w st A

(A) 41 B) 8Q

(C) 160 D) 329 1
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S. The resistance of a wire of any substance of length [ and area of cross.
scction A is 4 Q. Another wire of the same substance has length 21 ang

area of cross-section i:‘-— Then its resistance will he

(A) 4Q B) 8Q
© 160 : (D) 32Q ]
6. ﬁmﬁf@aﬁaﬁqﬁmq&wﬂé@mﬁsaﬁqﬁﬂaﬁfﬂwﬁ?
&) I°r B) VI
(C) IR? (D) ";32 1
6. Which of the following does not represent electrical power in a circuit ?
(A) I’R B) VI
) IR? (D) ERE | 1

7. Tl uwErd S $ ww e g w R Rt fig W s g &
B 2

AA) 1 FEEAE (B) . r* S ITFAIA
W(C) % HCHATII! D) % YAl 1
7. The magnetic field produced due to a current carrying conductor at a

point on a distance r 1sQ®
(A) directly prop%@bonal tor (B) di'rectly proportional to r?
(C) inversely %&pomonal tor (D) inversely proportional to r2 1
@ ITUT- (2)
Sub-Section - (2)

8.  EEENH IFA(HY) A vl R

o(A) AT B) iy

(C) IgEH D) T J HE T8 ,
8. Nature of hydrogen ion (H") is

(A)  Acidic (B) Alkaline

(C) Neutral (D) None of these |
9, uTe HIS1 % W AV H 9 & A ) wew

(A) 2 B) s

€ 8 .D) 10 |
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9. Number of molecules of water in one molccule of washing soda s
(A) 2 B) 5
€ 8 D) 10 ]
10. fFmafefga o CaEl 3:{1.11@% ? |
o(A)  Cr (B) Fe?'
() He (D) Hg |
10.  Which is a non-metal in the following ?
A) Cr (B) Fe*’
(C) He (D) Hg 1
1. oGt & R s et e |
() ad HeT wewR N w3
(B) HIgd o9 3T S #
(©) g i g = v A 2
(D) WG ® SrerhaT H V7 YT ST R I
11.  Which is not true for metals ? _
(A) Metals always form'covalent compounds
(B) Metals form positiv&jons
(C) Metals have ter@s\%cy to-lose electrons :
(D) Metals hav%g&% property of conductivity . 1
12, WIRX ﬁm&@aﬁé Ffufea | 7T 3
(A) 3EH «B) fram
(C) <[ YR (D) ¥ & #i Td 1
12. Which is formed by reaction of Plaster of Paris with water ?
(A) Epsom (B) Gypsum
(C) Limestone (D) None of these L
13, weHre @1 afEan @ i R wow el R
(A o,M B) H,N
() c,H, M (D) C,H, M 1
13.  Which is obtained by the reaction of ethanol with sodium ?
(A) O, gas (B) H,gas
(C) C,H, gas (D) C,H, gas 1
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I - (3)
8ub-Section - (3)
14, wma 3 o o Y s Bt 4
(A) 23 «(B) 2
€ 21 D) 20
14. The number of sex chromosomes in human is
(A) 23 - B) 2
€ 21 (D) 20 |
15. m%mﬂmaﬁmmwmw% mamamw
¥ fwe A wed |
(A) Il B) FH
(C) wW® (D) NI |4y 1
15. Intake of oxygen from outside of the body and break down of food
sources as per requirement of cell is called
(A) Excretion . (B)  Reproduction
(C} Respiration | (D)  Photosynthesis l
N6,  itrss w1 wer A T I wEer &
— Ya) I afess 'B) W uityss
(C) wva nfers (D) rguferss 1
16.  The main thinking part of brain is called
(A) Forebrain. (B)  Midbrain
(C} Hind brain (D) Cerebellum 1
17.  freforfen def % & R g ot g d 5
(A) e B) wE
€) "xr ‘D) iy |
17. :ﬁ:’lk::’;: iollowing plants has ur::cxual Nower »
(C) Pea (D; ::Jsmrd
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18. T I TR R 9oy Fralw gqel £ R arn e o wm g adead 2 o

(A) 0% o3)  10% |

(C) 50% D) 100% 1
18. How much organic matter reaches from one trophic level to next trophic

level ?

(A) 0% (B) 10%

() 50% (D) 100% l
19. i § v dve w1 I

(A) TN + FTefem + I (B) BN + Il + T

T + TRINA + T (D) @1 + Fe SEHATFIEE + I |

19.  The product of photosynthesis in plants is
(A) Protein + Oxygen + Water (B) Glucose + Oxygen + Water
(C) Fat+ Nitrogen + Water (D) Fat + Carbén dioxide + Water

_ 1
20. Fe=fifes d 9% w6 ooy gmiv W@ 2 2

(A) it B) Freatfem
(C) TEIH (D) WEAFERA 1
20. Which among the following is'not a plant hormone ?
(A) Auxin | ~ (B) Gibberellin
(C) Estrogen ' . (D) Cytokinin 1
qug -
PART - B
( AVTETE WA )
( Descriptive Questions )
AU - (1)

Sub-Section - (1)
L wril # qra-gva qdu & fAU $F-T1 SHR F G0 AN FW E 0 W W
H algm e € 2 2
Mﬁammﬁmqmmmﬁsﬂﬂaﬁ(ﬂmt@%sﬁ
4-5 wft $ard =1 st wfifea e ) wfafins & feufa aon g A
wI%E gl WM Hifa | 2
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1.

(1)

(i1)

)

(i)
U

(i1)
A

L

(i)

(i)

8

Which type of mirror is used as recar view mirror in cars ?
we prefer it ?

An object of 3 ¢cm height is placed at a distancc of 8 cm frgmz
c9ncavc mirror which produces a virtual image of 4:5 cm heigh;
Find the position of the image and focal length of the mirror. z
frpe oft v o B R 2 e anite g TwE) P S 2 7w o
st o e @ 2

Why do

: 2
D AR B W fen i wedha g @ 2 =men Sifg) 2
What is short sightedness ( myopia ) ? Explain with a ray-diagram.
This defect is corrected by which type of lens ? 2
Explain why the colour of clear sky appears blue. _ 2
U TR Teh &9 # qRand e W gt fh-fe Al @ ol s
?? 9@ 6 w7 w0 w1 Faw fifw) 2
faftre fedre %1 wmres 71 @ 2 @ 25 @ % ARV 12 e B T T @
51 81 wfe e @ # Sem s st R o iR 2

What are the factors on which the force acting on a current
carrying conductor depends placed in a uniform magnetic field.
Write the rule to find the direction of this force. 2
What is the unit g specific resistance ? A resistance of 25 Q is
connected to a2 volt battery. Calculate the heat energy in joules
generated pefiminute. 2

4 A RY T R R 100, 40 Q, 20 Q, 30 © 3 60 © ¥ i ¥Ry fear
T S 18 dee A TH O AR E -

20 O
10 Q DA
A m—m~w— B 300 C
gy
A ik A b S
40Q 60 Q
—{H - —(*}-
18V
Wﬂl'&ﬁﬁq;
M) ity 1 $@ yfdy

BT o=t A st g% e fnaEm
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() TP URETE! JHIHR U F HR0) I G a6 Yt w4 aee
(i) 1990 9%% 70 @ 2 » w5 A 3wm R

(i) T I oh o e @ 3 A R 2 0 2+2+2

In the circuit given below five resistances of 10 ©, 40 Q, 20 ‘Q, 30 Q and
60 Q are connected as shown to a battery of 18 volt.

100 200
—wWw— B| 300 | C

d hd

“AAA/ AAA/

40 Q 60 O

—{Ht {-
18V

Ly

Calculate :

(i) total resistance of the circuit
(ii)  total current flowing in the circuit
(ui) potential difference‘between points A and B. 2+2+2
| OR _
(i) Draw the pattern of the magnetic lines of force produced due to a
current carrying circular loop.

(i) What is an electramnagnet ? State its two uses.

~ (ii) How does an gi¢ctromagnet differ from a permanent magnet ? |

: 2+2+2
IAUTT - (2)
_ . Sub-Section - (2)
ey g TamPe Aol % R R i 1 3gE i o2
/nsf Na GCATY] (WTATO] ST 11) T FAIiH TRmY] (T ShTeh 17) & W
Na*Cl™ &1 §941 §HHRY| 2
(a)  State any two properties of electrochemical series. 2

(b) Explain the formation of Na*Cl™ by combination of Na atom

( Atomic number 11 ) and Cl atom ( Atomic number 17 ). 2

/;m;ﬁﬂ%f@améﬁfnﬁmﬂ%m: _
ifufsran 2
%l 2
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6.  Write short notes on the following :
(a)  Neutralisation rcaction y)
(b)  Reduction reaction. 2

7. W@W%m*(ﬁﬁﬂﬂ%ﬂmm%@) 61
@ B Niwage A 9@ A frwm e T 2o
(b) U R T Y Y T e i g e R 2
€ TS B WS H,S0, # wfemar ¥ @ 160°C @ 170°C A 7 m

e a2 2

(d) S I W A awEe @ fFa wd e R 2
(€) T R H,50, £ Tafufy F wdrivew s 3 mmed Rea o 2 -
() U 9 A ST S 7

Fexa
v(ay” faerm ¥ pH wm w Afim feonft fafiau) 2
by 3 g W Efi feooft ferftae 2
ey Pt v % LU.P.A.C. 7™ fafie - 1+1
4~ CHz-C= C@CHS
P&B

/(i»i( —CH,
7.  What happcr@hcn ~(Write only balanced chemical equation ) 6xl
(a) Sodium oxide reacts with water ?
(b) Dry chlorine gas reacts with dry slaked lime ?
(c) Ethanol reacts with excess of concentrateq Y SO. at 160°C to
170°C ?
(d)  Ethanoic acid reacts with sodium bicarbonate ?

e ith ethanoic acid i

() Ethanol reacts w N presence of concentrated
H,S0, ?

() Ethane is allowed to burn in air ?

OR
(a)
(b)

6000/64
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(¢)  Write IUPAC names of the following compounds : 1+ 1
OH

I
(i) CHJ—(‘.II--CH:,
- (3)
Bub-S8ection - (3]

B Pafifen § welw w1 v g Raft -
W e

1
) wEa | i
(i) qIeEET (Ft) 1
(iv)  HHE| 1
8. Write one example of each of the following :
(1) Fission 1
(1)  Fragmentation 1
(i) Regeneration 1
(iv) Budding. 1
9. frefefs w dfim fReufwt fafe : 2+2
(i) wfa= \QQ
(i N IER G %6\
Q.  Write short notes o@ e following : 2+2

(i) Ecosyste@)
(i  Ozone layer.

Lo, wrFa % W I @ i it it g o e wfiw o B 242

jo_ Draw a labelled-diagram of female reproductive system of human and

describe it in brief. | 2+92
11 'W%wﬁmwﬁmﬂmﬁm@mmwmtﬁml
| 3+3
g
frferfaa w wftw feorforat fflae - 2+2+72
i) I & e
(i) "= 4 gfg el
(i) Feriey Gy
6000/ 64
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1. Describe in brief the structure of kidney in human and also describe its

functions. 3+3

OR

Wriwe short notes on the following : 2+2+2

T g8 .
() Geotropism in plants

(i1) Growth hormones in human.

(111) Heterotrophic nutrition.

824(IN) - 4,48,000
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